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Trigonometry Questions PDF for RRB NTPC 2024 Exam 
 

𝐐𝟏. Find value of 
tan2θ(cosec2θ − 1)

secθ − tanθ
(cpo 2019_15 sets_ set 15 Q. 122) 

(a) 
1 − cosθ

sinθ
 

 

(b) 
1 + cosθ

sinθ
 

 

(c) 
1 + sinθ

cosθ
 

 

(d) 
1 − sinθ

cosθ
 

 

𝐐𝟐. If secθ + tanθ = 3 then sinθ + cotθ =? 

(a) 1.30 

(b) 1.55 

(c) 1.80 

(d) 1.96 

 

𝐐𝟑. 2(sin6θ + cos6θ) − 3(sin4θ + cos4θ) + cos4θ − sin4θ − 2cos2θ =?  

(a) 1 

(b)  − 1 

(c) 2 

(d)  − 2 

 

𝐐𝟒. (cosec A –  sin A)² +  (sec A –  cos A)² –  (cot A –  tan A)² is equal to: 

(𝐚) 𝟏 

(b) 2 

(c) 0 

(d) – 1 

 

𝐐𝟓.
4

3
 tan² 60° +  3 cos² 30° –  2 sec² 30° – 

3

4
 cot² 60° is equal to: 

 

(a) 
8

3
 

 

(b) 
5

4
 

 

(c) 
7

3
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(d) 
10

3
 

 

𝐐𝟔. If cos P =  
51

149
, then what is the value of cot P? 

 

(a)  
61

140
 

 

(b) 
51

140
 

 

(c)  
51

141
 

 

(d)  
51

142
 

 

𝐐𝟕. If cot 4A =  tan (A + 45°), then what is the value of A? 

(a) 12°   

(b) 13°  

(c) 15° 

(d) 9°  

 

𝐐𝟖. What is the value of 
sec + cosecθ

sinθ + cosθ
+

secθ − cosecθ

sinθ − cosθ
 ? 

(a)  − secθcosecθ 

(b) 2secθcosecθ 

(c) secθcosecθ 

(d) 3secθcosecθ 

 

𝐐𝟗. If tan2θ. tan4θ =  1 then what will be the value of tan3θ. 

(a) 0 

(b) 1 

(c) √3 

(d) 
1

√3
 

 

𝐐𝟏𝟎. If 2cosα + 15sin²α = 7, 0° < α < 90°, then what is the value of  
5 − cotα

2 + tan²α
 ? 

(a) 
304

123
    

 

(b) 
123

176
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(c) 
176

123
 

 

(d) 
123

304
 

 

 

 

Solutions: 
 

𝐒𝟏. 𝐀𝐧𝐬. (𝐜) 

𝐒𝐨𝐥.
tan2θ × cot2θ (secθ + tanθ)

(secθ − tanθ)(secθ + tanθ)
 

= secθ + tanθ 

=  
1

cosθ
+

sinθ

cosθ
=

1 + sinθ

cosθ
 

 

 

𝐒𝟐. 𝐀𝐧𝐬. (𝐛) 

𝐒𝐨𝐥. secθ + tanθ = 3 

secθ − tanθ =
1

3
 

2secθ =
10

3
 

secθ =
5

3
 

4
5

3 ⇒  sinθ + cotθ =
4

5
+

3

4
 

=
31

20
 

= 1.55 

 

 

𝐒𝟑. 𝐀𝐧𝐬. (𝐝) 

𝐒𝐨𝐥. 2 − 6 sin2θcos2θ − 3 + 6sin2θcos2θ + (cos4θ − sin4θ ) − 2cos2θ 

−1 + cos2θ − sin2θ − 2cos2θ 

−1 − (sin2θ + cos2θ) 

−2 
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𝐒𝟒. 𝐀𝐧𝐬. (𝐚) 

𝐒𝐨𝐥.  Cosec²A + sin²A − 2 + sec²A + cos²A − 2 − cot²A − tan²A + 2 

Cosec²A + sec²A + 1 − 2 − 2 − cot²A − tan²A + 2 

=  −1 + cosec²A + sec²A − cot²A − tan²A 

=  −1 + 1 + cot²A + 1 + tan²A − cot²A − tan²A 

=  1. 

 

 

𝐒𝟓. 𝐀𝐧𝐬. (𝐝) 

𝐒𝐨𝐥.
4

3
× 3 + 3 ×

3

4
− 2 ×

4

3
−

3

4
×

1

3
 

4 +
9

4
−

8

3
−

1

4
 

= 6 −
8

3
 

=
10

3
 

 

 

𝐒𝟔. 𝐀𝐧𝐬. (𝐛) 

𝐒𝐨𝐥. 

 

cos P =  
51

149
=

B

H
 

P =  √(149)2 − (51)² 

=  √200 × 98 

=  10 √196 

=  140 

cot P =  
B

P
=

51

140
 

 

 

𝐒𝟕. 𝐀𝐧𝐬. (𝐝) 

𝐒𝐨𝐥. tan (90 –  4A)° =  tan (A +  45°) 

5A =  45° 

A =  9° 
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𝐒𝟖. 𝐀𝐧𝐬. (𝐛) 

𝐒𝐨𝐥. 
sec θ + cosec θ

sin θ + cos  θ
+

sec θ − cosec θ

sin θ −  cos θ
  

=  
1

sin θ cos θ
+

1

sin θ cos θ
=

2

sin θ cos θ
 

=  2 cosec θ sec θ  

 

 

𝐒𝟗. 𝐀𝐧𝐬. (𝐛) 

𝐒𝐨𝐥. tan2θ tan4θ =  1 

If tan A tan B =  1 then A +  B =  90° 

⇒  2θ +  4θ =  90° 

⇒  6θ =  90° 

⇒  θ =  15° 

tan3θ =  tan 3 ×  15 =  tan 45° =  1 

 

 

𝐒𝟏𝟎. 𝐀𝐧𝐬(𝐜) 

𝐒𝐨𝐥.  2cosα + 15sin²α = 7 

2cosα + 15(1 − cos²α) = 7 

15cos²α − 2cosα − 8 = 0 

Cosα =
4

5
 

Sinα =
3

5
 

Cotα =
4

3
, tanα =

3

4
 

5 − cotα

2 + tan²α
 =

5 −
4
3

2 +
9

16

=  
176

123
 

http://www.sscadda.com/
http://www.adda247.com/

